Rl Mount Installation Instructions Drywall
ID_RI_Mount_Drywall

PHILIPS

_ Mount Installation

R1 mounting system is designed to
work with 1/2” and 5/8” drywall. Mini-
mum plenum height of 8-1/2” is re-

3 Top Plate Installation

quired for power mount installation.

Non-power mount installation is cov-
ered in steps 2 to 9 of this document.

Power mount installation is covered, in

steps 11 to 23 of this document.

)

n
o

nto

top plate
stud assembly
IMPORTANT: Refer to supplied layout draw- Drill 4-1/2” diameter hole at required mounting Center top plate above ceiling hole as shown. Begin threading factory prepared stud assembly
ings to determine exact mounting locations. location. top plate. IMPORTANT: Stop after approximately |
. . . . L - inch and move to next step.
IMPORTANT: All mount locations require a 4- From below, tilt and insert top plate inside ceiling .

1/2” hole cut in drywall ceiling.

ﬂ Bottom Plate Installation m Bottom Plate Installation Canopy/Cable Gripper Installation m Suspension Cable Installation

)©

canopy /

cable gripper

7
\

\ O\

4

L)
\J

bottom plate 1/4”-20 nut suspension cable ‘
Slide bottom plate onto 1/4”-20 stud assembly. hread bottom plate assembly into top plate until full ~Slide canopy onto 1/4”-20 and install cable gripper. nsert suspension cable inside cable gripper and push
Install 1/4”-20 supplied in hardward kit and fully contact with bottom of drywall sheet. If needed, . . ) through exit side. IMPORTANT: Ensure end of

- . I ) . ) . IMPORTANT: Fully tighten cable gripper against . . .
tighten bottom plate against stud assembly. rotate slightly, align slot in bottom plate with hole in suspension cable is visible through exit port of cable

top plate and attach screw supplied in hardware kit. canopy and 1/47-20 nut below bottom plate.
IMPORTANT: Ensure bottom plate is fully secured. PP PP '

gripper.

ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved Phone: 604.888.681 | Web: philips.com/luminaires

Revision 0




RI Mount Installation Instructions

ID_RI_Mount_Drywall

PHILIPS

u Suspension Cable Adjustment

—
_

/

release spring

J

\

m Fixture Installation

Refer to supplied fixture
installation instructions.

LUl

IMPORTANT: Cable adjustment is done by press-
ing release spring. CAUTION: Ensure fixture is
fully supported before any adjustments are made.
After final adjustments, trim excess cable below
canopy.

13

To complete fixture installation, refer to supplied

fixture installation instructions and layout drawings.

MDriver Pod Installation

Note: above ceiling view

Drill a 4-1/2” hole at required mounting location.

Prepare power feed conduit (supplied by others)
and pull through ceiling hole. Connect conduit
and connectors to 7/8” hole on A/C side of
driver pod. Tuck wires inside A/C wiring cavity.

m Driver Pod Installation

Note: below ceiling view

N

through ceiling hole.

Begin driver pod installation by tilting and guiding

m Mount Preparation—1/2” Drywall

1/4"-20 bolt\

——
1/4”-20 nut /

IMPORTANT

While feeding driver pod through ceiling hole, tilt
upper section forward and lower section back to
fully insert above ceiling.

Move driver pod back and position directly above
ceiling access hole.

Note: Above ceiling view shown for reference only.

Make sure driver pod is centered above ceiling ac-
cess hole.

For 1/2” drywall cemngs only, assemble 1/4”-20
and nut supplied in hardware kit.

bolt

For 5/8” drywall ceilings use only 1/4”-20 bolt for

next step.

ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved

Phone: 604.888.681 | Web: philips.com/luminaires

Revision 0




RI Mount Installation Instructions

ID_RI_Mount_Drywall

PHILIPS

n Mounting Bolt Installation

Cable Gripper Installation
//*** —_
—=—01_ 1>

1/4” gap 1/4”-20 nut

cable gripper

release spring

Install 1/4”20 bolt through driver pod wiring cavity
and pull through center hole as shown.

power cord ==p

Install 1/4”-20 nut supplied in hardware kit.
IMPORTANT: Leave a 1/4” gap at the bottom for
cable gripper attachment. Install cable gripper onto
stud. Ensure cable gripper is fully tightened against
1/420 nut.

E Canopy Installation

\ collar

Slide canopy and bottom plate on suspension cable
and lower to fixture level. Insert suspension cable
inside gripper and push through exit side.

IMPORTANT: Ensure end of suspension cable is
visible through exit port of cable gripper.

Refer to supplied fixture installation instructions for
proper installation. Once fixtures are installed, make
any necessary adjustments at the cable gripper by
pushing release spring. IMPORTANT: Ensure fix-
ture sections are fully supported before adjustments
are made.

AR Fixture Installation

Refer to supplied fixture
installation instructions.

Feed fixture power cord through bottom plate

and lower plate to fixture level. Complete low
voltage wiring connections inside driver pod wir-
ing cavity. Raise bottom plate to ceiling and se-
cure to driver pod with supplied screws.

Raise canopy and collar to ceiling.

Push canopy tight against drywall ceiling and tighten
collar set screw to lock in place.

To complete fixture installation, refer to supplied
fixture installation instructions and layout drawings.

ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved

Phone: 604.888.681 | Web: philips.com/luminaires

Revision 0




R3 Mount Installation Instructions Surface PHILIPS
ID_R3 Mount_Surface (¥ | EDA ‘ ‘ T.j

_ Mount Installation n Housing Installation 3 n Housing Installation

Non-power mount instal-

lation is covered in steps
2 to 10 of this document.

Power mount installation
is covered, in steps 12 to

22 of this document.

housing cover 7

MPORTANT: Refer to supplied layout draw- Remove housing cover and 2 screws. nstall housing at required mounting location. MPORTANT: Ensure housing is secure to ceiling.

ings to determine exact mounting locations. Attach to structure with appropriate hardware
(supplied by others).

_— — \

m Mount Preparation m Mount Installation Cable/Cable Gripper Installation m Suspension Cable Installation

/ P
1/4”-20 nut suspension cable ‘ |
| \

Prepare 1/4”-20 bolt for installation by attaching nstall bolt prepared in step 5 inside mounting brack- IMPORTANT: Feed suspension cable through hous- Insert suspension cable inside cable gripper and push
1/47-20 nut supplied in mounting kit. et hole as shown. ing cover removed in step 2. Install spacer and cable through exit side. IMPORTANT: Ensure end of

. . gripper onto housing 1/4”-20 bolt and fully tighten.  suspension cable is visible through exit port of cable
Ensure nut is flush with head of bolt as shown. Install second 1/4”-20 to secure to mounting bracket.

. . . gripper.
IMPORTANT: Fully tighten cable gripper against

spacer and 1/4”-20 bolt.

ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved Phone: 604.888.681 | Web: philips.com/luminaires Revision 0

IMPORTANT: Ensure nut is fully tightened to bolt.




R3 Mount Installation Instructions

ID_R3 Mount_Surface

Surface

PHILIPS

u Housing Cover Installation

m Suspension Cable Adjustment

release spring

n Fixture Installation

Refer to supplied fixture
installation instructions.

Slide housing cover up and over cable gripper.

Re-install housing cover and screws removed in step

2. Cable adjustment is done by pressing release

spring. Ensure fixture is fully supported before any
adjustments are made. After final adjustments, trim

excess cable below cover.

To complete fixture installation, refer to included

fixture installation instructions and layout drawings.

m Mount Preparation

Remove driver pod housing and 4 screws.

n Mount Installation

Attach to structure with appropriate hardware
(supplied by others).

nstall driver pod at required mounting location.

7/8” knockout in housing and attach electrical con-

duit (supplied by others).

etermine required power feel location. Remove

Prepare 1/4”-20 bolt for installation by attaching
1/4”-20 nut supplied in hardware kit.

Ensure nut is flush with head of bolt as shown.

nsert bolt assembly inside mounting bracket and
push through.

IMPORTANT: Ensure bolt location is as shown.

ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved

Phone: 604.888.681 | Web: philips.com/luminaires

Revision 0




R3 Mount Installation Instructions

ID_R3 Mount_Surface

Surface

PHILIPS
& LEDALITE

(WA Cable Gripper Installation

1/4"-20 NU m—
SPACEr > ©

cable gripper /VQ

n Suspension Cable Installation

7

suspension cable

/

fixture power cord

Suspension Cable Adjustment

release spring

Install 1/4”20 nut and fully tighten against mounting
bracket. Install spacer and cable gripper to 1/4”-20
IMPORTANT: Fully tighten cable gripper
against spacer and 1/4”-20 nut.

stud.

Feed suspension cable through housing cover re-
moved in step 2. Insert cable inside cable gripper
and push through exit side. IMPORTANT: Ensure
end of suspension cable is visible through exit port
of cable gripper.

E Cover Installation

Feed fixture power cord through driver pod cover

and driver pod housing mounting bracket. Pull ex-
cess cable inside housing. Trim as needed and com-
plete low voltage wiring connections inside driver
pod housing.

m Fixture Installation

Refer to supplied fixture
installation instructions.

Raise cover to ceiling and align with suspension
cable and cable gripper

Secure cover to driver pod housing with 4 screws
removed in step 12.

To complete fixture installation, refer to supplied
fixture installation instructions and layout drawings.

Refer to supplied fixture installation instructions for
proper installation. Once fixtures are installed, make
any necessary adjustments at the cable gripper by
pushing release spring. IMPORTANT: Ensure fix-
ture sections are fully supported before adjustments
are made.

ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved

Phone: 604.888.681 | Web: philips.com/luminaires

Revision 0




R6 Mount Installation Instructions

ID_Ré Mount_On_Grid

Grid Ceiling - On Grid

PHILIPS

_ Mount Installation

Non-power mount instal-
lation is covered in steps
2 to 7 of this document.

Power mount installation
is covered in steps 9 to 22
of this document.

n Caddy Clip Installation

1/4”-20 stud

3 Caddy Clip Installation

- tie off cable

cable gripper

Refer to supplied layout drawings to determine
exact mounting locations.

ﬂ Suspension Cable Installation

Separate Caddy clip assembly from supplied hard-
ware kit. Install stud in bottom half as shown.
IMPORTANT: Insert top clip in bottom piece, ro-
tate and click closed around t-grid. Ensure the 2
pieces are locked together before next step.

m Suspension Cable Installation

IMPORTANT: Secure Caddy clip to structure using
approved tie off cable (supplied by others).

Suspension Cable Adjustment

release spring

Install canopy, spacer and thread cable gripper
onto Caddy clip 1/4”-20 stud.

m Fixture Installation

Refer to supplied fixture
installation instructions.

IMPORTANT: Ensure cable gripper is fully tight-
ened against spacer and Caddy clip before in-
stalling fixture.

Insert suspension cable inside gripper and push
through exit side.

IMPORTANT: Ensure end of suspension cable is
visible through exit port of cable gripper.

Cable adjustment is done by pressing release
spring. CAUTION: Ensure fixture is fully sup-
ported before any adjustments are made. After
final adjustments, trim excess cable below canopy.
Notch ceiling tile around Caddy clip and install.

To complete fixture installation, refer to sup-
plied fixture installation instructions and layout
drawings.

ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved

Phone: 604.888.681 | Web: philips.com/luminaires

Revision 0




R6 Mount Installation Instructions Grid Ceiling - On Grid PHILIPS
ID_R6 Mount_ On_Grid (¥ A HT =

4_ ;_1

uDriver Pod Bracket Installation

driver pod bracket

Wall Rail Installation 4” Regress n Driver Pod Installation

second tie off cable w

Secure driver pod bracket to Caddy clip using hex IMPORTANT: Secure driver pod bracket to nstall another tie off cable approximately 17 inches  Secure driver pod box to bracket using sheet metal
nut and square head bolt supplied in mounting kit. structure using approved tie off cable (supplied by away from first tie off cable. screw supplied in hardware kit.
others).

Ensure parts are oriented and installed as shown.

KB Driver Pod Installation Power Feed Installation

n Power Feed Installation

iz
Ensure driver pod is secure to bracket. ring power supply conduit (supplied by others) Connect power feed to wire cover. Insert wire cover and slide in position to lock inside
and open wire cover supplied in hardware kit. driver pod housing.
ATTENTION: Install in accordance with national and local building and electrical codes.

©2018 Philips Lighting Holding B.V. All rights reserved Phone: 604.888.681 | Web: philips.com/luminaires Revision 0




R6 Mount Installation Instructions Grid Ceiling - On Grid PHILIPS
ID_Ré_Mount On_Grid ¥ LEDALITE

Driver Pod Wire Preparation Driver Pod Wire Connections n Canopy/Cable Installation m Canopy Installation - Battery Pack

Remote Driver Mount

17

test light m—

For battery pack option, remove test light/switch
from driver pod. Install in canopy next to power
o . feed hole. Install second fitting provided in mount kit
Ensure canopy power entry bushing is aligned with )
L . next to power feed fitting. Refer to steps 4 to 8 on

fitting inside driver pod.

page | for attachment of canopy, spacer and suspen-
sion cable. Re-connect test light/switch wiring.

E Driver Pod Cover Installation m Fixture Installation

Refer to steps 4 to 8 on page | for attachment of

Remove knockout at power feed location. Install nut
canopy, spacer and suspension cable.

on fitting supplied in mounting kit.

Remove driver pod cover and 3 screws.

Ensure nut is installed to bottom of threaded section.
Secure fitting inside driver pod housing with second
nut. Ensure fitting is tight.

Re-install driver pod cover Refer to supplied fixture
removed in step 17. installation instructions
for finishing steps.

Notch ceiling tile as required to clear power feed

ull excess wire inside driver pod housing. Trim to
fittings. Install ceiling tile below driver pod.

required length and complete electrical connections.

Feed power cord through canopy and fitting inside
the driver pod housing.

ATTENTION: Install in accordance with national and local building and electrical codes.

Revision 0

Phone: 604.888.681 | Web: philips.com/luminaires

©2018 Philips Lighting Holding B.V. All rights reserved



	ID_R1_Mount_Drywall
	ID_R3_Mount_Surface
	ID_R6_Mount_Grid

